
1)
In Out In Out

129 8,416

7,865 60,154

37,042 538

290 4,009

2)

Complete the in-and-out boxes using the given rules.A)

Rule: Round to the nearest 

hundred.

Rule: Round to the nearest 

hundred.

Which of the following when rounded to the nearest hundred is 3,800? 2)

a) 3,712 b) 3,856 c) 3,763 3,863

What is 94,627 rounded to the nearest hundred?3)

a) 94,500 b) 94,600 c) 94,630 94,700

a) 25,800 b) 25,840 c) 25,900 d) 25,000

Round 25,841 to the nearest hundred.1)B)

Round 685 to the nearest hundred.4)

600 b) 690 c) 680 d) 700a)

d)

d)

Rounding to the Nearest Hundred
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